Order of Operations (A)

Perform the operations in the correct order.

1 (8_6)(9—(1+6))+(5—4) 6. <7+1)(5—(4—4+5))+1
2.6x(5+(4+4+1)—4)+5 ) (4 x 3)(4“)(575)%3

33714+ 10+6+3-6 8.6 ((3+10+6—2x%x9)x2)
4.7+(3-2)x2+(2+(8-06)) 0 (9+32><4)3_1X1

5. (3+ (10 10) +4)B73)%3 10. 3X3-9)x9+129x%5
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Order of Operations (A) Answers

Perform the operations in the correct order.

(8_6)(9—(1+6))+(5—4) 6. <7+1)(5—(4—4+5))+1

6x(5+(4+4+1)—4)+5 7. (4 x 3) D7

=11 =12

.31—71+10+6+3—6 8.6 ((3+10+6—-2x%x9)x2)

— -3
+(3-2)x2+(2+(8-6)) 0. (9+32x4)" !

=14 Y e

. (31+(10+10)+4)<3‘3>+5 10. (3x3-9)x9+1+9x%x5

f— :O
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Order of Operations (B)

Perform the operations in the correct order.

L(I1x3=3)+(4+(8+4-10)) 6. (1x1)774+10+2-6

2 1x22x (2—2)+42 7.6x9x (T—=7)+((5—1)+4)
3 (9= (6—5)x8) x (T—4=1) 8. (104 (104+9) x 7 x (3—3)) x 2
4 8x(5—5)=(8x (8—7))=5 9. (7 x2)°

5. 4((5-57+2)+(1x2) 10. (((3—3)x3)9‘6)9+8
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Order of Operations (B) Answers

Perform the operations in the correct order.

(1x3-3)+(4+(8+4-10)) 6. (1x1)°74+10+2-6
Ix22x(2-2)+42 7.6x9x (7T—=T7)+((5—1)+4)
— 16 =0
(9= (6—5)x8) x (7T—4=1) 8. (10+(10+9) x7x (3—-3)) x2
=3 =20

. . (7 % 2)051=(7+1-2)
.8:>6(5—5)T(8><(8—7))75 9 (:7142)
4((5-57+2)+(1x2) 10. ((3—3)><3)9_6>9+8
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Order of Operations (C)

Perform the operations in the correct order.

. ((8—(10—4))8—5)2+2 6. (10— 9)10+5-7)"+4
(8—6)"+(3+3x4+4) 7. 241—((14)3)8

g 5 14532 8 (4+4x10—146)+(6+2)
5—(64+5-2x3)4+7" 9. 10" x (8 — 6)
C2x1)Px(5-2x1=+1) 10. 3+ (1105101 1 1)
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Order of Operations (C) Answers

Perform the operations in the correct order.

1. ((8—(10—4))8—5>2+2 6. (10— 9)(10+5-7)'+4
=1
=38
41 4 3 8
2 (8—6)>+ (33 x4=4) 22— (14)7)
=4 ~15
3.9 x 953377 8. (4+4x10—146)=(6+2)
— :5
4.5—(64+5—2x3)+7 9. 10" % (8 —6)
5. (2x 1) x(5=2x1=1) 10, 3+ (11051051 1 1)
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Order of Operations (D)

Perform the operations in the correct order.

1.64+4=-24+104+9—-7-3 6. 2(6-1x1-5)x8=4

2. (5x1—(8'=3))+2x1 7.8+(3+(142)+6+(7+7)
3.9+ (8—-1x(5-(9-9)))° 8. (7—7)x10+9+6+3x2
4. 10-3+8x2+(1x(8—4)) o 165-4x1

5. (5+1-3)°=3+7x1 10. (5—4)x24+10+4"'+1
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Order of Operations (D) Answers

Perform the operations in the correct order.

644524104973 6 2(6+1x1-5)x8+4
S (5x1—(8'=-3))+2x1 7.8+ (3+(142)+6=+(7+7)
= =14

8. (7T—7)x104+94+6+3x2
=13

10-3+8x2+(1x(8—4)) 9 16—

=11

(5+1-3)=3+7x1

=38

10. (5—4)x2+10+4'+1
=16
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Order of Operations (E)

Perform the operations in the correct order.

L 91X (7=T) 6. (9+ 3+8+(6+ 3)3> =2

. 3—(10—-3+4—-9=-(9+9
( ( ) 7. (47+450-2)+1

N 2+(2x2+2)
()" 85— (4—4) = (Tx2xT+7)
(6+6x (9-6)7 9. (9+9—9) !
1—(10—-8)x (2—10+5)=8 10. (6—2)*+(9+9x2+1)
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Order of Operations (E) Answers

Perform the operations in the correct order.

Q¥ (7-T) 6. (9+ 3+8+(6+ 3)3) =2

=1 AP
.3:—1(10—3+4—9+(9+9)) (#2456 2) =1
— 14
o\ 1) 25(2x2+2)
((4>) 8.5 (4—4) = (Tx2x7=7)
=16 =5
(656 (9—6))F 72 9. (949 —9) !
—= :9
1—(10—8) x (2—10+5) =8 10. (6—2)°+(9+9x2+1)
=1 =8
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Order of Operations (F)

L 10—3%x (5-5)+2°

| 8(7_6)8><5+5+1

(8—8+3)x (23 —8+1)

34340673 7 -

Perform the operations in the correct order.

222510 =10 — 32

1

6.6+ (7—7"4+2)—4+4

7. (6—8+4)> 23!

8. (4—2)+-(2+1)+3+3x1

0. (6-1—1x8+8)x3=1

10. 4 +4x9+((6x1+6)+4)
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Order of Operations (F) Answers

Perform the operations in the correct order.

272 %x10+10—32 6.6+ (1—7"+2)—4+4
—7 _9
.10—32X(5—5)—|—23 7 (6_8+4)2+23><1

=18 AN

g(7-6)"" "1 8. (4—2)=(2+1)+3=3x1

(8—8+3)x (23—8+1)

=0

34340673 7 -

9. (6—1—1x8+8)x3+1
=12

1 10. 4+4x9+((6x1+6)+4)
=3
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Order of Operations (G)

Perform the operations in the correct order.

- ((1+5—2)1—(8—6))2 6. (4—4)=7)" = (6+2)+7

—_—

1042 —(1x34+9-9) x4
146-1+10+2—10=5 71042 (1x349-9)x

\S]

3. (6= (7—5))6F10-103 8. (8—2—(8—2))x3+32

4 T48x1+2%2x3=3 0. (4=3)"+6+(2+1)=1)

5 Ix(10—(9=7)+1+(1+1)) 10. 42 % (7T+6—(64+7))+5
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Order of Operations (G) Answers

| ((1+5—2)1—(8—6))2 “

=4

Perform the operations in the correct order.

6. (4—4)=7)" =+ (6+2)+7

7.10+2— (1 x3+9-9) x4

146141042105 —0

=17

8. (8—2—(8—2)) x3=32

' (6— (7 . 5))(6+10—10)+3 . o

=9

CTH8XT+2%x2%x3+3

=19 =3
.1><9(10—(9—7)+1+(1+1)) 10. i+52><(7+6—(6+7))+5
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Order of Operations (H)

Perform the operations in the correct order.

C(144+5x1—(6+2))* 6. (64+6) *—10

—_—

2. 4 % (2%2)7+3 —8=2 7. (5 _4)5 % 14><4+4

224 5\ _
3 (9-7)7=245+1x8 8. 277 (10-5) -2

4 (6—4)0° (6341 9. ((6+6)5) S

9

(8= (142))x 1108 %3 10. 1+((5—<3—1)2)+(3+3))

Math-Drills.com




—_—

\S]

9

Order of Operations (H) Answers

Perform the operations in the correct order.

C(14+4+45%x1—(6+2))* o (646)° 510
=16 2y
Ax(2+2)" —g+2 7 (5—4)° x 144+

(9—7) =2+5+1x8

=17
6—4)'9°_(6=+3+1) 9. ((6+6)5)4_4—1—1

=13 ~1

.:81—5(1+2))><110—8><3 10, 1_+1((5—(3—1)2)+(3+3))
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Order of Operations (I)

Perform the operations in the correct order.

.5—(1+(L—Pf)5 6.3+ (81— (7+1-2)—1)

—

) (5><1+(8—3—|—5—5)>7 7. ((2—|—10)+(9_51))_

8 5% (10—-9)°x (3x14+1
3. 442%6+(32+9)] (10=9)7x )

0. 10%—(164-(10><2YF4)

4. (3*+1-3-4)x9-38

2x6x(14+47—8)+9+38 10. (6+14(445)+9)x6+3

9
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Order of Operations (I) Answers

Perform the operations in the correct order.

_5_(1+(1_13)4>5 6.3-(8+1—(7T+1-2)—1)

—4

IO
= X

A4+2x6+(32+9)

=16

 (3*+1-3-4)x9-38

=10

2x6x(14+7—-8)+9+8

=38

=3

|+ (8=345-5)) 7. (:(23+10)+(9—51))‘

7 8. 10-9)x (3x1+1)

10. (6+1+(44+5)+9)x6=+3
— 14
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Order of Operations (J)

Perform the operations in the correct order.

L7+4— (7425277 6.9+8—1+(6+6)"—4

3 (9+9)6—(9—(6—4)3) 7 4% ((2—2)=2=(9—1)+3)
3.6+ (1+1)x (34+2)x1x 1 s (7—9+9)+3)"

4 (((5X1_4)8)32)3 9. (6—1—(3+2))+ (10+2?)
57— (4x2-2)=(3+(6=6)) 10. 241 —(3+1+1x7)
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Order of Operations (J) Answers

Perform the operations in the correct order.

T4+4—(T+2+2)7

II/\

3
§5x1—®> )

6.94+48—1=(6+6)"—4

=3 =12

(99— (9-(6-47") 7. 4% ((2-2) =2+ (9—1)43)
=0 =12

6 (1+1)x(34+2)x1x1 g ((7_9+9)_3)3—12

=15 AN

9. (6—1—(3+2))+ (10+2?)
=0

(f . 10. 25— (3=1+1x7
£ (6-+6))

=6
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